
https://www.pass4itsure.com/1z0-1082-22.html
2024 Latest pass4itsure 1Z0-1082-22 PDF and VCE dumps Download

 

 

 

1Z0-1082-22Q&As

Oracle Profitability and Cost Management 2022 Implementation
Professional

Pass Oracle 1Z0-1082-22 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/1z0-1082-22.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

Latest 1Z0-1082-22 Dumps | 1Z0-1082-22 Study Guide | 1Z0-1082-22 Braindumps                                1 / 3

https://www.pass4itsure.com/1z0-1082-22.html
https://www.pass4itsure.com/1z0-1082-22.html
https://www.pass4itsure.com/1z0-1082-22.html


https://www.pass4itsure.com/1z0-1082-22.html
2024 Latest pass4itsure 1Z0-1082-22 PDF and VCE dumps Download

QUESTION 1

Which two are valid statements about the Balance and Rule dimensions? 

A. Rule names are assigned as aliases to the rule number members In the Rule dimension. 

B. Data is loaded to the member Input in the Balance dimension. 

C. Data Is loaded to the member Input In the Rule dimension. 

D. The Balance dimension is considered a POV dimension. 

E. Data for the members Allocation In and Allocation. Out are populated by Profitability and Cost Management rules. 

Correct Answer: BC 

 

QUESTION 2

Assume that the proper data permissions have been assigned In Profitability and Cost Management. Which two actions
can you perform In Smart View? 

A. Display Analysis Views and Profit Curves that you created in Profitability and Cost Management in an Excel
spreadsheet. 

B. Create reusable Smart Queries to use for ad hoc reporting and analysis In Excel. 

C. Update driver data in Excel and submit the changes back to Profitability and Cost Management. 

D. Update dimension members and properties In Excel and submit the changes back to Profitability and Cost
Management. 

Correct Answer: BD 

 

QUESTION 3

Your business process includes a series of allocations where administrative costs are allocated from HR to TT and
Finance, from IT to Finance and HR, and from Finance to HR and IT. 

Which calculation option should you select for the rule set that Includes these allocations? 

A. Iterative Execution 

B. Circular Execution 

C. Batch Execution 

D. Serial Execution 

E. Parallel Execution 

Correct Answer: A 
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QUESTION 4

Which statement Is FALSE about this EPM Automate command? 

A. It will fail if the user does not have the Service Administrator role. 

B. It will load data from profitdata1.txt data then run all rules in rule1, txt 

C. It will fall If ruiei.txt and profitdatai.txt are not uploaded to the profitinbox first. 

D. It will clear data from the slice of the database referenced in the data file and leave other data intact. 

Correct Answer: C 

 

QUESTION 5

Which Is NOT a valid Point of View (POV) state? 

A. Archived 

B. Final 

C. Published 

D. Draft 

Correct Answer: A 
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